900 GeV pp NSD
> T rrrr o T e T T
S | _
£ 0.16 — lyl(A) (NSD, ly| < 2) —
o B —m— CMS B
Z%) B —a— Pythia 8 (Def) |
= - -+ -. Pythia 8 (4C) ]
S . 5 Pythia 8 (4C) i
B ---+ -- Pythia 8 (A2) ]
L -4 - Pythia 8 (Monash 13) ]
0.12 — _
I -
0.1 " —
0.08 — _
0.06 — —]
— CMS_2011_S8978280 —
4 B Pythia 8.240 N
0.0 | | [ | | [ | T | | L, , | |
e g
2 E =
%) : ]
> — _
@) L _
S 1
9 —
= B |
o
0.5 — _|
L L L L |
0 0.5 1 1.5 2

> 100k events

Rivet 2.6.1,

mcplots.cern.ch (arXiv:1306.3436)

N

0.5



	Contents
	Page 1


